GCSE (9-1)
Mathematics




2 Write these temperatures in order.
Start with the lowest temperature.

120 =2°C 10°C =52C 32C

(Total for Question 2 is 1 mark)



3 Write 0.075 as a fraction.
Give your fraction in its simplest form.

(Total for Question 3 is 2 marks)



4 Find the value of 5*

(Total for Question 4 is 1 mark)




s

10 (a) Solve 3x+7=1

(2)

Work out the value of 3/ 2g

(2)

(Total for Question 10 is 4 marks)




10 Karol ran in a race.

The graph shows her speed, in metres per second, fseconds after the start of the race.

4

10

k= ¥

Speed (m/s) y

0 2 4 6 8 10
Time (¢t seconds)

(a) Write down Karol’s speed 3 seconds after the start of the race.

m/s

(1)



10 Karol ran in a race.

The graph shows her speed, in metres per second, fseconds after the start of the race.

4

10

Speed (m/s) y

0 2 4 6 8 10
Time (¢ seconds)

(b) Write down Karol’s greatest speed.

m/s

(1)



10 Karol ran in a race.

The graph shows her speed, in metres per second, fseconds after the start of the race.
4

10

Speed (m/s) /

0 2 4 6 8 10
Time (¢ seconds)

There were two times when Karol's speed was 9 m/s.

(¢) Write down these two times.



19 (a) Factorise )*+ 27y

(1)

(b) Simplify  (F)’

(1)

9

(c) Simplify w_4
w

(1)

(Total for Question 19 is 3 marks)




IlocnemoBarenbHOCTL 3amaHa GopMyJoN ofmiero 4ijeHa:
Yy, =n —n®, Halitu eé naTeIi 4JeH.

1) -20 2) 0 3) 30 4) 5
IlocnepoBaTenbHOCTL 3aJlaHa pPeKypPPeHTHOM (GopMyaon
X,,1=%,+6 u ycaoBueM x, =-7. HaliTu TpeTuin 4jaeH
3TOH IIOCJEeNOBATEJIBLHOCTH.

1) 5 2) -1 3) 9 4) 11

YKasaTb HOMEp IOCJIefOBaTeJNbHOCTH, ABJIAKINEHCA apud-
MEeTH4YEeCKOHN Iporpeccueii.

s Al 1o 8
1) 1,3,9,27,... 2) —6; 6; —6; 6; ...
3) 0; 0,3; 0,6; 0,9; ... 4) —-15; =5; 0; 15; ...
B apudmMeTnyecKoil nporpeccuu a,, = %, a,, =-1. Han-
™ d.

1 1 1
1) 1§ 2) —15 3) “g 4) -2
B apudmeruyeckoit nporpeccuu a, =-15, d =95. Haii-
TH Q.

1) 15 2) -70 3) -85 4) 10



10

11

B apudmernuyeckoi nporpeccuu a,, = —3, a,, = 19. Haittn
(7
21

1) 8 2) 22 3) 16 4) 11

YKaszaTe HOMEp IIOCJeNOBATEJNBHOCTH, SABJAAMIEHCS Ieo-
MEeTPHUYECKOM Nporpeccuei,

1) -5; 5; —1; 1; ... 2) 64; 32; 8; 1; ...
3) 0,1; 0,01; 0,001; 0,0001; ... 4) —-4; 1; 6; 11; ...

Haiitu sHaMeHaTelb reoMeTpUUYecKoil nporpeccuu —16; 4;
-1; ....

1) -64 2) —4  8) -12  4) -i

B reoMeTpryecKkoi nporpeccuu b, = % , ¢ =—9. HaiiTu b,.
1) 10 2) -2  3)-50 4) -2

HaiiTi cyMMy nepBhIX TPUAUATH YWIEHOB apndMeTHYeCKOi
IIpOTrpeccuM, eciu a, = — 295, a,, = 5.

Orger:

HaiiTn cyMMy DEepBBIX IIECTH YJEHOB TI'€OMETPHYECKOMN

nporpeccuu, ecau b, =8, g = % :

OTBer:




